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More practice Set out these questions yourself to answer them.

B 6273x8=? B 192Lx7 =?
TTh Th H T U TTh Th H T U
6 27 3 19 L
X 8 X 7
Ol |8 H l 4168
5 2 5 2 [ 6 I 2
L178%5 =7 B L4557x9=7?
L 117 8 " 557
X 5 X 9
08 9 0 10 [ ]3
2 3 4 4 5 5 6
Problem solving
El Three people each win £1896 on ( )
the lottery. How much did they 89
win altogether? X
5 6 8 £5688
10 Every day 8925 people travel on a ( )
train. How many people travel on 8 9 2
this train in a week? X
L 6 6 | 3 - )
I Work out the missing digit in this 6 @ 8 L
multiplication.
X 8
L 12|72
5 6 6 3
| How did I find Step I? [JEasy [ JOK [ Difficult |






